WA ITEBUEASRE RIIAIEEE RREREEEL Y X —
[H—F v BEfEZE] BRI em
15 7a7 EEZ A& 4 i T EXAR | EXBR | M X W | mE m#L
SRR TR IR 1IRZEA 1052 = PEH PK9485 —oOUF 1.5 70| 210 20 3.8 76
SRR TR 1R 1RZEA 10ER= 7= L — 2R AC5653 o0 1.5 70/ 210 20 3.8 76
R TPR R 1IRZEA 1022 ML) | EERAX Y > a PK9083 + PK9047-M T - 1.0 | 200| 220 10 5.6 56
SRR Wik 1BREB 1052 = S PK9485 —OUF 1.5 | 100| 210 20 7.5 150
e TR 1R 1RZEB  10%RE 7= L —2X AC5653 o0 1.5 | 100/ 210 20 5 100
SRR Wik 1BREB 1052 = pliiwim PK9485 —oO0f 1.5 70| 210 3.8 34.2
e TR R 1FRZ=EB  10%RE 7= L — X AC5653 —OUF 1.5 70| 210 5 45
SRR Wik 1BREB 1052 R | EERA v a PK9083 + PK9047-M T - 1.0 | 250 220 10 7.1 71
SRR Wik RIEIZE] - 2 = WS PK9485 OO0 1.5 | 100/ 210 4 7.5 30
AR TR R RiEiE=1 - 2 7= L —X AC5653 —oOUF 1.5 | 100| 210 4 5 20
SRR Wik RIEHE=L - 2 7= i PK9485 —HOUF 1.5 70/ 210 1 3.8 3.8
SRR TR IR RIEHEE] - 2 = L —X AC5653 —oOUF 1.5 70/ 210 1 5 5
fRiR TP R 1R LRE ML) | EERAX Y > a PK9083 + PK9047-M T - 1.0 | 200| 220 1 5.6 5.6
SRR TPTR R LRE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 400| 220 1] 11.3 11.3
SRR PR IR WEE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 1 5.6 5.6
SRR PR IR hEE L) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200| 200 1 5.6 5.6
e TR R BE Y] | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 200 1 7.1 7.1
SRR TR R HAE = P PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR PR R HRE 7= L — X AC5653 —HOUFr 1.5 | 140/ 200 1 7.2 7.2
e TR 1R Ay TE = B PK9485 —OUF 1.5 | 170/ 200 7.2 14.4
SRR Wik ARy TE = L —X AC5653 —oO0F 1.5 | 170 200 7.2 14.4
SRR TR IR HYyT77LYRE = S PK9485 o0 1.5 70| 200 3.6 14.4
SRR TR R AV 7 7LV RE 7= L —X AC5653 —OUF 1.5 70| 200 3.6 14.4
e TPyRR REEE = S PK9485 —OUF 1.5 | 140| 200 5.4 10.8
SRR Wik REEE 7= L —X AC5653 OV 1.5 | 140/ 200 6 12
SRR 678 R 1R HRIMEZE = WS AC5513 o0 1.5 70/ 189 1 3.6 3.6
SRR 6P R AR FRIMEE = L — 2 AC5653 —OU7 1.5 70| 189 1 4.6 4.6
SRR 6P TR IR HRIMEZE = W AC5513 o0 1.5 | 100/ 210 2 4.1 8.2
SRR 678 R iR 5 RI(E = = L —X AC5653 —OUF 1.5 | 100| 210 2 5 10
e 6PE TR AR HRIMEZE = T AC5513 o0 1.5 | 100/ 210 2 4.1 8.2
SRR 678 R 1R 5 RI(E = = L —X AC5653 —oOUF 1.5 | 100| 210 2 3.8 7.6
e 6 PR IR HRIMEZE = BT AC5513 o0 1.5 70/ 210 1 4.1 4.1
e CEEPEtE BRIME = = L —X AC5653 OO0 1.5 70/ 210 1 5 5
SRR 678 R 1R 1RZEA 14ZRE = S PK9485 OO0 1.5 70/ 210 28 3.8 106.4
e 6Pa R AR 1IRZEA 1452 = L —X AC5653 —OUF 1.5 70| 210 28 3.8 106.4
SRR 678 iR 1 1RZEA 145RE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 200 220 14 5.6 78.4
SRR 67a R 1R ARZE TEBE = B PK9485 o0 1.5 70/ 210 13 3.8 49.4
SRR 6Pa R IR AKRE TEE = L — 2 AC5653 —oOUF 1.5 70/ 210 13 5 65
SRR 678 iRt ARZE TEBE = S PK9485 o0 1.5 | 100/ 210 14 7.5 105
SRR 678 R iR ARE TEBE = L —X AC5653 —oOUF 1.5 | 100| 210 14 5 70
e 678 R 1R AKRE TEE = B PK9485 o0 1.5 | 100/ 210 14 5.7 79.8
SRR 67E R 1R ARE TEBE = L —X AC5653 —oOUF 1.5 | 100| 210 14 3.8 53.2
SRR 6Pa AR AKRZE TEE L) | EERX v > a PK9083 + PK9047-M TL— 1.0 | 250/ 220 14 7.1 99.4
SRR 678 R 1R ARE TEBE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 28 9.9 277.2
SRR 678 R 1R TRE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
e 6PRIR IR PRE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 400| 220 1] 11.3 11.3
SRR 6P R AR WEE R | EERX v a PK9083 + PK9047-M TL—y 1.0 | 200 220 1 5.6 5.6
SRR 67a R R hEE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 200 1 5.6 5.6
SRR 6P TR IR BE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 250 200 1 7.1 7.1
SRR 6P TR IR BfE = S PK9485 o0 1.5 70| 200 3.6 14.4
SRR 6PaIR IR BE 7= L —X AC5653 —OUF 1.5 70| 200 3.6 14.4
SRR 6P IR IR EY LI = S PK9485 —OUF 1.5 | 140| 200 5.4 10.8
SRR 6PE TR R LB UEES = L —X AC5653 OO0 1.5 | 140/ 200 6 12
SRR 6P TR iR HBRo—7F— = S PK9485 o0 1.5 | 140/ 200 5.4 10.8
SRR 678 R iR MO —F— = L —X AC5653 —oOU7 1.5 | 140| 200 6 12
SRR 6P TR IER B|IEE3 = P PK9485 —oOUF 1.5 | 140 200 5.4 10.8
e 6Pa R IR BIFE3 7= L — 2R AC5653 o0 1.5 | 140 200 6 12




SRR 678 R 1R BREE? = S PK9485 OO0 1.5 | 140/ 200 5.4 10.8
SRR 6P RR BEREE? 7= L —X AC5653 —oOUF 1.5 | 140| 200 6 12
SRR 6P TR IE B|EE] = P PK9485 —OUF 1.5 70| 200 3.6 7.2
e 678 R 1R BREE] 7= L — X AC5653 o0 1.5 70| 200 3.6 7.2
SRR 6 PR IR RIGHESR = B PK9485 o0 1.5 70| 200 3.6 7.2
R iER CEEPEE RIGEHEE = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2
SRR 67E R 1R HIRE = PEHE PK9485 o0 1.5 | 140| 200 1 7.2 7.2
e 6P IR IR HRE = L —X AC5653 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR 6P R AR HXRE1 = B PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
R 1E 6P TR IR HRE 7= L — 2R AC5653 —oOUFr 1.5 | 140/ 200 1 7.2 7.2
SRR 678 iR 1R ARy TE = S PK9485 —HOUFr 1.5 | 170/ 200 7.2 14.4
SRR 678 R 1R ARy TE = L —X AC5653 —oOU7 1.5 | 170| 200 7.2 14.4
SRR 678 R iR HyT77LYRE = S PK9485 —oOUF 1.5 70| 200 3.6 14.4
SRR 6Pa R IR Ay 7 7LV RE 7= L — X AC5653 o0 1.5 70| 200 3.6 14.4
SRR 6EIRIR 1RZEB 45828 = FEHE PK9485 —OUF 1.5 | 100/ 210 4 7.5 30
SRR ERr 1RZEB 42 = L —X AC5653 OO0 1.5 | 100/ 210 4 5 20
e 6ERAR 1RZEB 45828 = S PK9485 —oOUF 1.5 | 100| 186 4 6.9 27.6
SRR CERrS 1RZEB 42 = L —X AC5653 —HOUF 1.5 | 100/ 186 4 4.6 18.4
SRR 6EIRIR 1REB 4R = PEH PK9485 —oOUF 1.5 70| 210 4 3.8 15.2
SRR CERrS 1FRZEB 42 7= L — 2R AC5653 —HOUF 1.5 70/ 210 4 5 20
SRR ERrsY S 1RZEA 2ZE = S PK9485 o0 1.5 70/ 210 3.8 15.2
R iR 6B IR 1R 1REA 2EE = L —2X AC5653 OO0 1.5 70/ 210 3.8 15.2
SRR ERr5 RRRHLE = = S PK9485 —oOUF 1.5 70| 210 3.8 7.6
SRR 6ERIR BRRHLE = 7= L —X AC5653 —OUF 1.5 70| 210 3.8 7.6
SRR ERr RRHLE = MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200 220 5.6 5.6
SRR ERrs S 1RZEA 11ZRE = PEES PK9485 OO0 1.5 70/ 210 22 3.8 83.6
SRR 6EIRIR 1IRZEA 1152 = L —X AC5653 —oOUF 1.5 70/ 210 22 3.8 83.6
SRR CERrS 1RZEA 1122 MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 11 5.6 61.6
SRR CERrsYS AKRZE 6EBE = B PK9485 o0 1.5 70/ 210 11 3.8 41.8
fRiR 6E IR 1R ARE  63FE = L —X AC5653 OO0 1.5 70/ 210 11 5 55
e 6E AR ARE 688E = B PK9485 o0 1.5 | 100/ 210 12 7.5 90
SRR E AKRE 63BE = L —X AC5653 o0 1.5 | 100| 210 12 5 60
SRR 6EIRIR ARE 688E = S PK9485 —OUF 1.5 | 100| 210 12 5.7 68.4
SRR ERr5 AKRE 6EPE = L —X AC5653 o0 1.5 | 100| 210 12 3.8 45.6
SRR 6ERIR ARE 688E Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 220 12 7.1 85.2
SRR CERrs AKRE 6EBE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 24 9.9 237.6
SRR 6ER IR TRE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
SRR 6ER AR PTRE R | EERA v a PK9083 + PK9047-M T - 1.0 | 450/ 220 1] 12.7 12.7
R iR CERE IEE R | EERX v a PK9083 + PK9047-M T - 1.0 | 200| 220 1 5.6 5.6
SRR 6E TR AR REE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 200 1 5.6 5.6
SRR e BE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 250 200 1 7.1 7.1
SRR CE1 1 B|REES3 = S PK9485 OV 1.5 | 140/ 200 5.4 10.8
SRR 6E AR BREE3 7= L —X AC5653 —oOUF 1.5 | 140 200 6 12
SRR 6ERAR BEREE? = B PK9485 —oOUF 1.5 | 140| 200 5.4 10.8
SRR CES- Y BEREE? 7= L —X AC5653 —HOUF 1.5 | 140/ 200 6 12
SRR ERrsY S BEE] = W PK9485 o0 1.5 70| 200 3.6 7.2
SRR e B|EE] = L —X AC5653 —oOU7 1.5 70| 200 3.6 7.2
SRR ERr5 RIEIZEE = S PK9485 o0 1.5 70| 200 3.6 7.2
SRR 6ERJR IR RIGHER 7= L —X AC5653 —OUF 1.5 70| 200 3.6 7.2
SRR 6ER IR IR HXRED = S PK9485 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR CE HIXZED = L —X AC5653 OO0 1.5 | 140/ 200 1 7.2 7.2
SRR 6ERTR IR HRE = S PK9485 OO0 1.5 | 140/ 200 1 7.2 7.2
SRR 6ERAR HAE 7= L —X AC5653 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR e ARy TE = P PK9485 —oOUF 1.5 | 170 200 7.2 14.4
e 6B R 1R ARy TE 7= L —2X AC5653 —oOUFr 1.5 | 170/ 200 7.2 14.4
e 6EIRIR AV 7 7LV RE = S PK9485 —OUF 1.5 70| 200 3.6 7.2
s CERE: Hy 7 7LV RE = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2




iR 6ETRIR HY 77 LV RE = S PK9485 ZOUFE 1.5 | 140| 200 2 5.4 10.8
iR 6EIH IR AV 77 LV RE = L —X AC5653 ZO0 1.5 | 140| 200 2 6 12
AR YRt HCU = BEH PK9485 OO0 1.5 70| 210 6 3.8 22.8
IR 575 R 1R HCU = L —= AC5653 ZOUFK 15| 70| 210 6 5 30
R YRt HCU = EH PK9485 YoV 1.5] 100| 210 6 7.5 45
IR 575 R 1R HCU = L —= AC5653 ZO0F 1.5] 100| 210 6 5 30
iR 575 1R HCU = EH PK9485 OO0 1.5] 100| 210 6 5.7 34.2
AR 575 R 1R HCU = L—= AC5653 OO0 1.5] 100| 210 6 3.8 22.8
R 57 TR 1R HCU = EH PK9485 OO 1.5 | 140/ 210 6 7.5 45
T i 5P SRR HCU = L —X AC5653 ZOU 1.5 | 140/ 210 6 7.5 45
iR 57 R IR HCU = EH PK9485 OO 1.5 | 140/ 200 2 7.2 14.4
IR 578 R 1R HCU & L —= AC5653 —OUf 1.5 | 140/ 200 2 7.2 14.4
AR 575 R IR HCU M) | E#X vy > a PK9083+ PK9047-M TL—v 1.0 | 350 220 6 9.9 59.4
AR 578 R 1R HCU = BEH PK9485 OO0 1.5 | 140/ 200 2 5.4 10.8
AR 575 TR IR HCU = L —Z AC5653 ZOUFE 1.5 | 140| 200 2 6 12
AR YRt HCU M) | E&X v > a PK9083+ PK9047-M TL— 1.0 | 450 220 3| 127 38.1
IR 575 R 1R HCU = BEH PK9485 ZOUF 1.5 | 140| 200 2 5.4 10.8
R 57 R 1R HCU = L —X AC5653 OO0 1.5 | 140/ 200 2 6 12
IR 575 R 1R HCU = EH PK9485 OO 1.5 | 140| 200 2 5.4 10.8
iR 57 1R HCU = L—X AC5653 OO0 1.5 | 140/ 200 2 6 12
IR 57 R 1R HCU = EEH PK9485 OO0 1.5 | 140| 200 2 5.4 10.8
R 57 R IR HCU & L —= AC5653 OO0 1.5 | 140| 200 2 6 12
IR 575 R 1R HCU M) | E&X v > a PK9083 + PK9047-M - 1.0 | 500| 220 1| 141 14.1
R 57 R 1R HCU MEY) | Effx vy a PK9083+ PK9047-M TL—v 1.0 | 450 220 3| 127 38.1
IR 578 R 1R HCU M) | E&X vy > a PK9083 + PK9047-M - 1.0 | 900| 220 5| 25.4 127
AR 575 R IR HCU M) | EEX vy > a PK9083 + PK9047-M TL—v 1.0 | 350 220 1 9.9 9.9
IR 578 R 1R HCU M) | E&X vy > a PK9083+ PK9047-M TL— 1.0 | 450 220 1] 127 12.7
AR 578 R IR HCU M) | EEX Yy > a PK9083+ PK9047-M - 1.0 | 500 200 1] 141 14.1
IR 575 R 1R BAEE M) | EEX Yy > a PK9083 + PK9047-M - 1.0 | 300| 220 2 8.5 17
R 57 R IR Eph BEY) | E&BX v a PK9083+ PK9047-M TL—v 1.0 | 450 220 1 127 12.7
IR 57 R 1R BEE & EH PK9485 OO0 15| 70| 210 2 3.8 7.6
iR 57 R IR Eph = L —X AC5653 OO0 15| 70| 210 2 5 10
IR 57 R 1R E:pha & EH PK9485 OO0 1.5] 100| 210 2 7.5 15
iR 57 TR IR Eph = L —= AC5653 ZOUFE 1.5] 100| 210 2 5 10
IR 575 R 1R BEE & EH PK9485 —OUf 1.5 | 100| 210 2 5.7 11.4
R 57 R 1R Eph = L —X AC5653 OO 1.5] 100| 210 2 3.8 7.6
R 575 R 1R 1IREA SERE = B PK9485 ZOUFE 15| 70| 210 16 3.8 60.8
AR YRt 1RZEA SERE = L —X AC5653 OO0 1.5 70| 210 16 3.8 60.8
IR 575 R 1R 1IREA 8ERE M) | EEX Yy > a PK9083 + PK9047-M - 1.0 | 200| 220 8 5.6 44.8
IR 57 R 1R ARE 4EE & Vi PK9485 OO 15| 70| 210 7 3.8 26.6
R 57 TR IR ARE 4EE = L —X AC5653 OO0 1.5 | 70| 210 7 5 35
IR 578 R 1R ARE 4EE & B PK9485 OO0 1.5] 100| 210 8 7.5 60
iR 57 R IR ARE 4EE = L —Z AC5653 OO 1.5] 100| 210 8 5 40
IR 57 R 1R ARE 4EE & B PK9485 OO0 1.5] 100| 210 8 5.7 45.6
R 57 TR IR ARE AR & L —= AC5653 OO 1.5] 100| 210 8 3.8 30.4
AR 57 R iR ARZE 4EE M) | E&X vy > a PK9083 + PK9047-M - 1.0 | 250 220 8 7.1 56.8
AR 575 R IR ARE AR M) | EEX Yy > a PK9083+ PK9047-M TL—v 1.0 | 350 220 16 9.9 158.4
T 578 E 1 PRE M) | EE Xy a PK9083 + PK9047-M TL— 1.0 | 200| 220 1 5.6 5.6
AR 578 PRE M) | E&X vy > a PK9083+ PK9047-M TL— 1.0 | 400| 220 1] 113 11.3
iR 57 1R LB E M) | E&x vy > a PK9083+ PK9047-M TL—v 1.0 | 200| 220 1 5.6 5.6
iR Yeichrst HEE BEY) | EffXx v a PK9083 + PK9047-M TL—v 1.0 | 200| 200 1 5.6 5.6
R 57 R 1R A= MEY) | EfXxva PK9083+ PK9047-M TL—v 1.0 | 250/ 200 1 7.1 7.1
R 578 R R RIGEEL -2 = EH PK9485 ZOUFE 15| 70| 200 3.6 14.4
AR 578 R 1R RIGEEL - 2 & L —= AC5653 —OUf 1.5 | 70| 200 3.6 14.4
AR 578 R RE = S PK9485 —OUf 1.5 | 140/ 200 1 7.2 7.2
T 57 IR IR FEEES = L —X AC5653 ZOU 1.5 | 140| 200 1 7.2 7.2
AR YrichLstid EES3 = EH PK9485 OO0 1.5 | 140| 200 1 7.2 7.2
R 578 ER EXRE = L —X AC5653 OO 1.5 | 140/ 200 1 7.2 7.2
iR 57 TR 1R ARy TE & v PK9485 OO 1.5 | 170| 200 7.2 14.4
AR 57 R 1R ARy TE = L—= AC5653 —OUf 1.5 | 170/ 200 7.2 14.4
IR 578 R 1R HY 7 7LV RE & S PK9485 —OUf 1.5 70| 200 3.6 14.4
R 57 R 1R HY 77 LV RE = L —Z AC5653 OO 15| 70| 200 3.6 14.4
IR SRR R R IME = & BH AC5513 ZOUFK 15| 70| 210 1 4.1 4.1
R SERRR FERIME = = L —X AC5653 —OU 15| 70| 210 1 5 5
IR SEAIR FERIME = = B AC5513 OO 1.5] 100| 210 2 4.1 8.2
R SERR FERIME = = L —X AC5653 OO 1.5] 100| 210 2 5 10
AR SEHIR FERIME = = WH AC5513 OO 1.5] 100| 210 2 4.1 8.2




e bR YRR Rl (EE 7= L —X AC5653 —OUF 1.5 | 100| 210 2 3.8 7.6
SRR SRR 1R HRIMEZE = S AC5513 OO0 1.5 70/ 189 1 3.6 3.6
SRR bEYRAR FRIMEE 7= L —X AC5653 —oOUF 1.5 70| 189 1 4.6 4.6
SRR bER AR 1REA 145RE = S PK9485 —OUF 1.5 70| 210 28 3.8 106.4
e bR 1R 1RZEA 145RE 7= L — X AC5653 o0 1.5 70/ 210 28 3.8 106.4
SRR bER AR 1RREA 145RE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 220 14 5.6 78.4
SRR SEfRIR ARE TEBE = piiwin PK9485 o0 1.5 70| 210 13 3.8 49.4
e bEfRIR AKRE TERE 7= L —X AC5653 —OUF 1.5 70/ 210 13 5 65
SRR SRR IR ARE TEBE = PEHE PK9485 o0 1.5 | 100| 210 14 7.5 105
e bR AR AKRE TERE 7= L —X AC5653 —OUF 1.5 | 100| 210 14 5 70
SRR SRR ARE TEBE = S PK9485 OO0 1.5 | 100/ 210 14 5.7 79.8
SRR SEIRIR AKRZE TEHE = L — X AC5653 —oOUF 1.5 | 100| 210 14 3.8 53.2
SRR bR 1R ARE TEBE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 250/ 220 14 7.1 99.4
SRR SEfRIR AKRZE TEE R | EERA v a PK9083 + PK9047-M TL—y 1.0 | 350 220 28 9.9 277.2
SRR bER AR LRE R | EERA v a PK9083 + PK9047-M T - 1.0 | 200 220 1 5.6 5.6
SRR bERJR R PTRE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 400| 220 1] 11.3 11.3
SRR bEfRIR IMEE Y] | EERX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 1 5.6 5.6
SRR bER R IR hEE Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 200 1 5.6 5.6
e bEYRIR BE MY | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 200 1 7.1 7.1
SRR bEYRAR BE = PEH PK9485 —oOUF 1.5 70| 200 3.6 14.4
SRR bERTR IR BE 7= L — 2R AC5653 —HOUF 1.5 70| 200 3.6 14.4
SRR bE R 1R BIFE3 = S PK9485 o0 1.5 | 140/ 200 5.4 10.8
SRR bERR IR B|REE3 = L —X AC5653 —oO0f 1.5 | 140| 200 6 12
SRR bERR IR BIEE? = S PK9485 —oOUF 1.5 | 140| 200 5.4 10.8
SRR bR YRR BIEE? 7= L —X AC5653 —OUF 1.5 | 140| 200 6 12
e bR YRR BAEE] = T PK9485 —OUF 1.5 70| 200 3.6 7.2
SRR bERR IR BREE] = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2
SRR bR IR RIEIZEE = S PK9485 OO0 1.5 70/ 200 3.6 7.2
SRR SER AR RIEIEE 7= L — X AC5653 —oOUF 1.5 70| 200 3.6 7.2
SRR bE AR HIRE = PEHE PK9485 —oO0F 1.5 | 140 200 1 7.2 7.2
e bERJR IR HRE = L — 2R AC5653 o0 1.5 | 140/ 200 1 7.2 7.2
SRR bERJR IR HxRE4 = T PK9485 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR bERR IR HIRE 7= L —X AC5653 o0 1.5 | 140| 200 1 7.2 7.2
SRR SE R IR ARy TE = B PK9485 o0 1.5 | 170 200 2 7.2 14.4
SRR bEfRIR ARy TE 7= L —X AC5653 —oOUF 1.5 | 170/ 200 2 7.2 14.4
SRR SEIRIR AV 77 LY RE = S PK9485 —oOU7 1.5 70| 200 2 3.6 7.2
SRR bR 1R Hy 77L Y RE 7= L — X AC5653 o0 1.5 70| 200 2 3.6 7.2
R iR bEI SRR hHYy 7 7LV RE = BES PK9485 OO0 1.5 | 140| 200 2 5.4 10.8
SRR bR 1R Ay 7 7L RE 7= L — 2R AC5653 o0 1.5 | 140/ 200 2 6 12
SRR APE YRR 1REA 1453E = B PK9485 o0 1.5 70/ 210 28 3.8 106.4
SRR AP YRR 1RREA 145RE = L —X AC5653 —oOUF 1.5 70| 210 28 3.8 106.4
e ATE YRR 1REA 1453 Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 14 5.6 78.4
SRR APE YRR AKRE TEE = S PK9485 —oOUF 1.5 70/ 210 14 3.8 53.2
SRR APE YRR ARZE TEBE = L —X AC5653 —HOUF 1.5 70/ 210 14 5 70
SRR APE YRR ARE TEE = S PK9485 —oOUF 1.5 | 100/ 210 14 7.5 105
SRR AR YRR ARE TEBE = L — 2R AC5653 —HOUF 1.5 | 100/ 210 14 5 70
SRR ATERIR AKRE TEE = FEHE PK9485 —OUF 1.5 | 100| 210 14 5.7 79.8
SRR APE YRR AKRZE TEBE = L — X AC5653 o0 1.5 | 100/ 210 14 3.8 53.2
SRR AT R IR AKRZE TEE R | EERAX v a PK9083 + PK9047-M T - 1.0 | 250/ 220 14 7.1 99.4
e APE YRR AKRZE TEE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 28 9.9 277.2
SRR ATE YRR YTF54 FUNE = S PK9485 —OUF 1.5 70/ 210 1 3.8 3.8
R 1ER AT TR R YF54 FUNE = L —X AC5653 OO0 1.5 70/ 210 1 5 5
SRR ATE YRR YF54 FUNE = S PK9485 —OUF 1.5 | 100| 210 2 7.5 15
SRR ATE YRR Y554 FUNE = L —X AC5653 OO0 1.5 | 100/ 210 2 5 10
SRR APE YRR YF54 FUNE = S PK9485 —oOUF 1.5 | 100| 210 2 5.7 11.4
SRR AR YRR YF54 FUNE 7= L —X AC5653 OO0 1.5 | 100/ 210 2 3.8 7.6
SRR AP fRiR TRE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
SRR ATE YRR TRE Y | EERA v a PK9083 + PK9047-M T - 1.0 | 400| 220 1] 113 11.3
SRR AT YRR WEE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 220 1 5.6 5.6
SRR AP TRAE REE R | EERA v a PK9083 + PK9047-M T - 1.0 | 200 200 1 5.6 5.6




SRR ATE YRR BE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 250 200 1 7.1 7.1
L AT R R BE = i PK9485 OV 1.5| 70| 200 3.6 14.4
SRR AT YRR B = L —X AC5653 —OUF 1.5 70| 200 3.6 14.4
SRR AP FRR SEYIE T = P PK9485 —oO0F 1.5 | 140 200 5.4 10.8
SRR APE YRR ML Z/pUBEES 7= L — 2R AC5653 o0 1.5 | 140 200 6 12
e APE YRR B —F— = S PK9485 —OUF 1.5 | 140 200 5.4 10.8
SRR AT TRAE o I = L —X AC5653 o0 1.5 | 140| 200 6 12
SRR APE YRR B|REES3 = S PK9485 OO0 1.5 | 140/ 200 5.4 10.8
SRR ATERIR BEIFE3 = L —X AC5653 —oOUF 1.5 | 140 200 6 12
SRR AR 1R BEREE? = S PK9485 —oOU7 1.5 | 140| 200 5.4 10.8
SRR AR YRR BIEE? 7= L — X AC5653 o0 1.5 | 140 200 6 12
SRR AR YRR BEE] = T PK9485 o0 1.5 70| 200 3.6 7.2
fRiER AFT IR TR BAEE] = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2
SRR APE YRR RIEIZEE = PEHE PK9485 o0 1.5 70| 200 3.6 7.2
SRR APE YRR RIEHER 7= L —X AC5653 —OUF 1.5 70| 200 3.6 7.2
e AP RAR e = T PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR AP fRiR HRE 7= L —X AC5653 —HOUF 1.5 | 140/ 200 1 7.2 7.2
SRR AP FRiR PTRE = B PK9485 —HOUF 1.5 | 140/ 200 1 7.2 7.2
SRR AT YRR PTRE = L — 2 AC5653 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR AP YRR ARy TE = WS PK9485 —oO0f 1.5 | 170 200 7.2 14.4
e APE YRR Ay TE 7= L — X AC5653 —OUF 1.5 | 170/ 200 7.2 14.4
SRR APE YRR AV 7 7LV RE = S PK9485 —OUF 1.5 70| 200 3.6 14.4
SRR APE YRR Ay T7r7LYRE = L —X AC5653 o0 1.5 70| 200 3.6 14.4
SRR AR R 1R HRIMEZE = P AC5513 OO0 1.5 70/ 210 1 4.1 4.1
SRR AT YRR HRI(EE 7= L —X AC5653 —oOUF 1.5 70/ 210 1 5 5
SRR AR R1R HRIMEZE = S AC5513 OO0 1.5 | 100/ 210 2 4.1 8.2
SRR AT FRR Rl (E = = L — X AC5653 —oOUF 1.5 | 100| 210 2 5 10
SRR AR R 1R HRIMEZE = BT AC5513 o0 1.5 | 100/ 210 2 4.1 8.2
SRR AT FRIR 5 RI(E = = L —X AC5653 —oO0F 1.5 | 100| 210 2 3.8 7.6
e AT YRR HRIMEZE = BT AC5513 o0 1.5 70| 189 1 3.6 3.6
SRR ATERIR 5 RI(E = = L —X AC5653 o0 1.5 70| 189 1 4.6 4.6
SRR ATERIR 1RREA 145ZRE = v PK9485 o0 1.5 70| 210 28 3.8 106.4
SRR AT RIER 1IRZEA 1452 = L —X AC5653 —OUF 1.5 70| 210 28 3.8 106.4
SRR AT RIR 1RZEA 145ZRE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200 220 14 5.6 78.4
SRR AT RIR ARE TERE = S PK9485 —HOUFr 1.5 70/ 210 13 3.8 49.4
SRR AT RIR AKRZE TEE = L — 2 AC5653 —oOU7 1.5 70/ 210 13 5 65
SRR AR R 1R ARZE TEBE = S PK9485 o0 1.5 | 100/ 210 14 7.5 105
SRR AR AKRZE TEHE = L — X AC5653 —oOU7 1.5 | 100| 210 14 5 70
SRR AR R 1R ARE TEBE = B PK9485 o0 1.5 | 100/ 210 14 5.7 79.8
SRR AT FRIR ARE TEBE = L —X AC5653 —oOUF 1.5 | 100| 210 14 3.8 53.2
SRR AT RIER AKRZE TEE Y] | EERX v > a PK9083 + PK9047-M TL— 1.0 | 250/ 220 14 7.1 99.4
SRR AT FRTR ARE TEBE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 350 220 28 9.9 277.2
SRR AT R1R LRE MY | EERA Y > a PK9083 + PK9047-M T - 1.0 | 200 220 1 5.6 5.6
SRR AT AR PRE ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 400| 220 1] 11.3 11.3
SRR AT YRR WEE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200| 220 1 5.6 5.6
SRR AR RIR hEE R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 200 200 1 5.6 5.6
R AT R IR nE R | EERX v PK9083 + PK9047-M TL— 1.0 | 250| 200 1 7.1 7.1
SRR AT TR B = S PK9485 o0 1.5 70| 200 3.6 14.4
SRR AT AR BE 7= L —X AC5653 —OUF 1.5 70| 200 3.6 14.4
SRR AT YRR BIEE3 = S PK9485 —OUF 1.5 | 140| 200 5.4 10.8
SRR AT R R B|REES3 = L —X AC5653 OO0 1.5 | 140/ 200 6 12
SRR AT IR BREE? = S PK9485 OO0 1.5 | 140/ 200 5.4 10.8
SRR AT YRR BEREE? 7= L —X AC5653 —oOUF 1.5 | 140| 200 6 12
SRR AR B|EE] = P PK9485 —oOUF 1.5 70| 200 3.6 7.2
e AR R 1R BEE] 7= L —2X AC5653 o0 1.5 70| 200 3.6 7.2
e AT RIER RIGHES = S PK9485 —OUF 1.5 70| 200 3.6 7.2
s AR TR RIEEE = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2




SRR AT IR HIRE = S PK9485 OO0 1.5 | 140/ 200 1 7.2 7.2
SRR AT YRR HAE 7= L —X AC5653 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR AR HXRE4 = P PK9485 —OUF 1.5 | 140 200 1 7.2 7.2
e A FRR HRE = L — X AC5653 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR AT YRR ARy TE = B PK9485 o0 1.5 | 170/ 200 2 7.2 14.4
SRR AT RIR ARy TE = L —X AC5653 o0 1.5 | 170 200 2 7.2 14.4
SRR AT RIR Ay T7r7LYRE = S PK9485 o0 1.5 70| 200 2 3.6 7.2
e AT YRR AV 7 7LV RE 7= L —X AC5653 —OUF 1.5 70| 200 2 3.6 7.2
SRR AR R 1R Ay T77LYRE = S PK9485 OO0 1.5 | 140/ 200 2 5.4 10.8
SRR AT RIR AV 7 7L Y RE = L —X AC5653 —oOUF 1.5 | 140 200 2 6 12
SRR 3TEIRIR TLAI—L = FL—7 AC5165 —oOU7 1.5 70/ 210 2 4.7 9.4
SRR Rfuizp sy TLAII—L 7= L — X AC5653 o0 1.5 70/ 210 2 5 10
SRR 3P SRR TLAI—L = FL—7 AC5165 —oOU7 1.5 | 100| 210 2 4.7 9.4
SRR Rfzizp sy FLAIL—L 7= L — X AC5653 o0 1.5 | 100/ 210 2 5 10
SRR 3P IRIR TLAI—L = FL—7 AC5165 —oOUF 1.5 | 100| 210 2 4.7 9.4
SRR 3TERIR FLAIL—L 7= L — X AC5653 o0 1.5 | 100/ 210 2 3.8 7.6
SRR 3TRAR 1IRZEA 125RE = FL—7 AC5165 —OUF 1.5 70/ 210 24 4.7 112.8
SRR 3T IR IR 1RZEA 12EZRE = L —X AC5653 OO0 1.5 70/ 210 24 3.8 91.2
e 3TRAR 1REA 1258 MY | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200| 220 12 5.6 67.2
SRR 3TERIR 1R=EB 658 = FL—7 AC5165 —oOUF 1.5 70| 210 6 4.7 28.2
SRR Rfzizprsy 1FRZEB 632 7= L — 2R AC5653 —HOUF 1.5 70/ 210 6 5 30
SRR 3TERIR 1REB 632 = FL—7 AC5165 —oOUF 1.5 | 100/ 210 12 4.7 56.4
SRR 3P IR R 1FRZEB 6%32 7= L — X AC5653 —HOUFr 1.5 | 100/ 210 12 5 60
SRR 3P SRR 1RZEB 652 Y | EERA v a PK9083 + PK9047-M TL— 1.0 | 250 220 6 7.1 42.6
R iER 3FETE R 2RE = FL—7 AC5165 OO0 1.5 70/ 210 2 4.7 9.4
SRR 3TERAR 2RE 7= L —X AC5653 —OUF 1.5 70/ 210 2 5 10
SRR 3P SRR 2IRE = FL—7 AC5165 o0 1.5 | 100| 210 2 4.7 9.4
e 3TRAR 2RE = L —X AC5653 —OUF 1.5 | 100| 210 2 5 10
SRR 3T IR IR 2IRE = FL—7 AC5165 OO0 1.5 | 100/ 210 2 4.7 9.4
SRR 3TRAR 2RE 7= L —X AC5653 —oOUF 1.5 | 100| 210 2 3.8 7.6
SRR 3P SRR 2RE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 250 220 1 7.1 7.1
SRR 3P fRIR 2RE R | EERA v a PK9083 + PK9047-M TL—y 1.0 | 350 220 2 9.9 19.8
fRiR 3FETER 3RE = FL—7 AC5165 OO0 1.5 70/ 210 2 4.7 9.4
e 3TERIR 3RE = L — 2R AC5653 o0 1.5 70/ 210 2 5 10
SRR 3P IRIR 3RE = FL—7 AC5165 o0 1.5 | 100| 210 2 4.7 9.4
SRR 3TIRR 3RE 7= L —2X AC5653 —OUF 1.5 | 100| 210 2 5 10
SRR Rfricpsy 3RE = FL—7 AC5165 o0 1.5 | 100| 210 2 4.7 9.4
SRR 3TRAR 3RE 7= L —X AC5653 —OUF 1.5 | 100| 210 2 3.8 7.6
SRR 3P SRR 3RE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 250 220 2 7.1 14.2
SRR 3TTRAR 3RE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 350 220 3 9.9 29.7
SRR 3TRIR ART = FL—7 AC5165 —oOU7 1.5 70/ 210 2 4.7 9.4
SRR 3P yR IR ARE = L — X AC5653 o0 1.5 70/ 210 2 5 10
R iR 3FETEIR APRE = FL—7 AC5165 OO0 1.5 | 100| 210 2 4.7 9.4
SRR 3P IR IR ARE = L — 2R AC5653 o0 1.5 | 100/ 210 2 5 10
SRR 3R IR ARE = FL—7 AC5165 —oOUF 1.5 | 100| 210 2 4.7 9.4
SRR 3TERIR ARE = L — X AC5653 o0 1.5 | 100/ 210 2 3.8 7.6
SRR 3P SRR ARE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 250 220 2 7.1 14.2
e 3TERR ART Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 4 9.9 39.6
SRR 3PIEIER S 7= FL—7 AC5165 —oOUF 1.5 | 140/ 210 1 9.2 9.2
L 3P SRR KRBT = L —2X AC5653 ZoOUF 1.5 | 140| 210 1 7.5 7.5
s PR R = = KL—7 AC5165 OV 15| 70| 210 4.7 9.4
SRR 3TRIR R 7= L — 2 AC5653 —OUF 1.5 70| 210 3.8 7.6
fRiER 3P fRIR BE N #k = FL—7 AC5165 OO0 15| 70| 210 1 4.7 4.7
e 3PIEIER B =ik = L — X AC5653 —OUF 1.5 70/ 210 1 5 5
SRR 3P SRR SRR = FL—7 AC5165 o0 1.5 | 100| 210 2 4.7 9.4
SRR 3PIEIER B =ik 7= L —X AC5653 —OUF 1.5 | 100| 210 2 5 10
SRR 3P SRR ARl = FL—7 AC5165 o0 1.5 | 100| 210 2 4.7 9.4
SRR 3PIEIER B Nk 7= L —X AC5653 —OUF 1.5 | 100| 210 2 3.8 7.6
SRR 3PIEIER PRE ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200| 220 1 5.6 5.6
SRR Rfzicp sy PRE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 400 220 11 11.3 11.3
SRR 3P IR IR IMEBE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
e 3TTEIR HEE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200 200 1 5.6 5.6
e 3TERIR BE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 250/ 200 1 7.1 7.1




R IR 3R ZENE = i PK9485 OO0 1.5 70/ 200 3.6 14.4
SRR 3T IR IR 2= NES = L —X AC5653 OO0 1.5 70/ 200 3.6 14.4
SRR 3TIEIR SHYALIE T = S PK9485 o0 1.5 | 140/ 200 5.4 10.8
SRR 3SR E SEYALIE = L —X AC5653 —OUF 1.5 | 140 200 6 12
SRR 3SR WX a—+— = P PK9485 —oO0F 1.5 | 140 200 5.4 10.8
SRR 3TERIR B —F— 7= L — 2R AC5653 o0 1.5 | 140 200 6 12
e 3TRR BIEE3 = S PK9485 —OUF 1.5 | 140 200 5.4 10.8
SRR Rfzicp sy B|REES3 = L —X AC5653 o0 1.5 | 140| 200 6 12
SRR Rfzispsy BREE? = S PK9485 OO0 1.5 | 140/ 200 5.4 10.8
SRR 3TEIRIR BEIEE? = L —X AC5653 —oOUF 1.5 | 140 200 6 12
SRR 3P fRIR B|EE] = S PK9485 —oOU7 1.5 70| 200 3.6 7.2
SRR Rfuizp sy BREE] 7= L — X AC5653 o0 1.5 70| 200 3.6 7.2
SRR 3TTEIR RIGHESR = S PK9485 o0 1.5 70| 200 3.6 7.2
fRiER PR R RIEEE = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2
SRR 3P IR IR B! = S PK9485 o0 1.5 | 140| 200 1 7.2 7.2
SRR 3PIEIER HRE 7= L —X AC5653 —OUF 1.5 | 140/ 200 1 7.2 7.2
e 3PIEIER HRE3 = S PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR 3TTE IR HRE 7= L —X AC5653 —HOUF 1.5 | 140/ 200 1 7.2 7.2
SRR Rfzizprsy ARy TE = B PK9485 —HOUF 1.5 | 170/ 200 7.2 14.4
SRR 3P fRIR ARy TE = L —X AC5653 —oOUF 1.5 | 170/ 200 7.2 14.4
SRR 3P SRR HYyT7r7L Y RE = S PK9485 —oO0f 1.5 70| 200 4 3.6 14.4
e 3TERIR AV 7 7LV RE 7= L — X AC5653 —OUF 1.5 70| 200 4 3.6 14.4
SRR SRR 1R=EB 258 = S PK9485 —OUF 1.5 70| 210 2 3.8 7.6
s 3ERIR 1AKZEB 2%ZRE = L —X AC5653 OO0 1.5 70/ 210 2 5 10
e SRR 1RZEB 288 = S PK9485 —OUF 1.5 | 100/ 210 4 7.5 30
SRR 3EIRIE 1RZEB 252 = L —X AC5653 OO0 1.5 | 100/ 210 4 5 20
SRR SRR 1RZEB 288 MY | EEfX v > a PK9080 + PK9046-M TL—y 1.0 | 250/ 220 2 7.1 14.2
fRiER 3ERIR 1IRZEA 1422 = pliiwin PK9485 OO0 15| 70| 210 28 3.8 106.4
SRR 3EIRIE 1RZEA 1453E 7= L — X AC5653 o0 1.5 70/ 210 28 3.8 106.4
SRR 3R 1RREA 145RE R | EERA v a PK9080 + PK9046-M TL— 1.0 | 200 220 14 5.6 78.4
SRR 3R ARE TEBE = pliiwim PK9485 o0 1.5 70| 210 13 3.8 49.4
SRR SRR ARE TEBE 7= L —2X AC5653 —OUF 1.5 70/ 210 13 5 65
SRR 3EIRIE ARE TEBE = S PK9485 o0 1.5 | 100| 210 14 7.5 105
SRR 3EIRR AKRE TEBE 7= L —X AC5653 —OUF 1.5 | 100| 210 14 5 70
SRR 3EIRIE ARE TEBE = S PK9485 o0 1.5 | 100| 210 14 5.7 79.8
SRR SRR AKRZE TEHE 7= L —X AC5653 —oOUF 1.5 | 100| 210 14 3.8 53.2
SRR 3EIRIE ARE TERE MY | EERA Yy > a PK9080 + PK9046-M T = 1.0 | 250 220 14 7.1 99.4
SRR 3EIRIR AKRZE TEE R | EERA v a PK9080 + PK9046-M TL—y 1.0 | 350 220 28 9.9 277.2
R iR 3EHIR NEOE R | EERX v a PK9080 + PK9046-M T - 1.0 | 200| 220 1 5.6 5.6
SRR 3R IE NEE MY | EERA Yy > a PK9080 + PK9046-M T = 1.0 | 350 220 1 9.9 9.9
SRR IR NIBE Y] | EERX v > a PK9080 + PK9046-M TL— 1.0 | 200| 220 1 5.6 5.6
e 3R hEE Y | EEfX v > a PK9080 + PK9046-M TL— 1.0 | 200 200 1 5.6 5.6
SRR SRR BE ML) | EEfX v > a PK9080 + PK9046-M TL—y 1.0 | 250/ 200 1 7.1 7.1
SRR SRR Bz = P PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
s 3R Bl 7= L — 2R AC5653 —HOUF 1.5 | 140/ 200 1 7.2 7.2
SRR 3R IE NEE MY | EERA Yy > a PK9080 + PK9046-M T = 1.0 | 200| 220 1 5.6 5.6
fRiER 3EHIR NEOE R | EERX v PK9080 + PK9046-M TL— 1.0 | 500| 220 11 14.1 14.1
SRR 3EIRIE EE R | EERA v a PK9080 + PK9046-M TL— 1.0 | 200 220 1 5.6 5.6
SRR 3EIRIE BHE MY | EEfX v > a PK9080 + PK9046-M T = 1.0 | 200 220 1 5.6 5.6
SRR 3EIRIE HAERE Rt |[L—X PK9574 OO0 1.5 | 310/ 150 2 9.5 19
SRR 3R HRE4 = S PK9485 OO0 1.5 | 140/ 200 1 7.2 7.2
SRR SRR HAE 7= L —X AC5653 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR 3R ARy TE = P PK9485 —oOUF 1.5 | 170 200 7.2 14.4
e 3SR IE ARy TE 7= L —2X AC5653 —oOUFr 1.5 | 170/ 200 7.2 14.4
e SRR AV 7 7LV RE = S PK9485 —OUF 1.5 70| 200 3.6 7.2
s 3ERIR Hy 7 7LV RE = L —X AC5653 OO0 1.5 70/ 200 3.6 7.2




e SRR AV 7 7LV RE = S PK9485 —OUF 1.5 | 140| 200 5.4 10.8
R iR 3EEIR Hy 7 7LV RE = L —2X AC5653 —oOUDF 1.5 | 140| 200 6 12
SRR YAz sy RIMEZE = W AC5513 o0 1.5 70| 189 1 3.6 3.6
SRR PAzizp s RI(E = = L —X AC5653 —OUF 1.5 70| 189 1 4.6 4.6
e PAzip sy HRIMEZE = T AC5513 o0 1.5 | 100/ 210 2 4.1 8.2
SRR 27Pa R IR Rl (E = = L —X AC5653 —oO0F 1.5 | 100| 210 2 5 10
SRR 2R AR HRIMEZE = BT AC5513 o0 1.5 | 100/ 210 2 4.1 8.2
SRR PAzisp sy RI(E = = L —X AC5653 o0 1.5 | 100| 210 2 3.8 7.6
e 2P R AR HRIMEZE = T AC5513 —OUF 1.5 70/ 210 1 4.1 4.1
s 2R R BHRIME = = L —2X AC5653 OO0 1.5 70/ 210 1 5 5
SRR YAz sy 1RZEA 145RE = i PK9485 OO0 1.5 70/ 210 28 3.8 106.4
SRR 2P R IR 1IRZEA 1452 = L — X AC5653 —oOUF 1.5 70| 210 28 3.8 106.4
SRR P4z sy 1RZEA 145E MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200| 220 14 5.6 78.4
SRR YAz sy ARZE TERE = S PK9485 o0 1.5 70/ 210 13 3.8 49.4
SRR 2P R IR ARE TEBE = L —X AC5653 —oOU7 1.5 70| 210 13 5 65
SRR YAz AKRE TEE = S PK9485 o0 1.5 | 100/ 210 14 7.5 105
SRR 27Pa R IR ARE TEBE = L —X AC5653 —oOUF 1.5 | 100| 210 14 5 70
SRR 2R AR AKRZE TEE = B PK9485 o0 1.5 | 100/ 210 14 5.7 79.8
SRR P4z sy ARE TEBE = L —X AC5653 o0 1.5 | 100| 210 14 3.8 53.2
SRR 2R AR AKRZE TEE Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 250/ 220 14 7.1 99.4
SRR ATz sy ARE TEBE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 350 220 28 9.9 277.2
SRR P4z sy PTRE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 1 5.6 5.6
SRR 2R AR TRE R | EERX v a PK9083 + PK9047-M TL—y 1.0 | 400| 220 1] 11.3 11.3
SRR 2R AR WEE R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 200| 220 1 5.6 5.6
SRR 2Pyt REE Y | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 200 1 5.6 5.6
SRR PAzicp sy BE MY | EEfX v > a PK9083 + PK9047-M T - 1.0 | 250 200 1 7.1 7.1
SRR 2P TE R 2= = P PK9485 o0 1.5 70| 200 3.6 14.4
e 2R IR BE 7= L —X AC5653 —OUF 1.5 70| 200 3.6 14.4
SRR 2R IR EY LIRS = S PK9485 —oOUF 1.5 | 140 200 5.4 10.8
SRR PAup SHAIB 7= L —X AC5653 OO0 1.5 | 140/ 200 6 12
R iE 27E R iER EERHLEBET = BES PK9485 OV 1.5 | 100| 200 1 7.2 7.2
SRR 27Pa R IR HEMIUET = L —X AC5653 —oO0F 1.5 | 100| 200 1 4.8 4.8
SRR 2Py HAE3 = S PK9485 o0 1.5 | 140| 200 1 7.2 7.2
SRR 2R IR HRE 7= L —2X AC5653 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR 2R AR ARy TE = S PK9485 —OUF 1.5 | 170/ 200 7.2 14.4
SRR PAzizp sy ARy TE = L —X AC5653 o0 1.5 | 170 200 7.2 14.4
SRR YAz sy Ay 7 7LV RE = P PK9485 —HOUFr 1.5 70/ 200 3.6 14.4
SRR 2P R IR AV 77 LY RE = L —X AC5653 —oOU7 1.5 70| 200 3.6 14.4
SRR 2R 1RZEA AZE = PEHE PK9485 —oOU7 1.5 70| 210 8 3.8 30.4
SRR 2B R 1R 1RZEA 4ZRE 7= L — 2R AC5653 o0 1.5 70/ 210 8 3.8 30.4
SRR 2R 1RZEA AZE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 220 4 5.6 22.4
SRR 2R ARE AEBE = pliiwim PK9485 —oOUF 1.5 70| 210 7 3.8 26.6
e 2R AR AKRE AEBE 7= L —X AC5653 —OUF 1.5 70/ 210 7 5 35
SRR 2R IR ARE 4EBE = S PK9485 OV 1.5 | 100/ 210 8 7.5 60
SRR 2R AR AKRE AEBE 7= L —X AC5653 —oOUF 1.5 | 100| 210 8 5 40
SRR 2R IR ARE 4EBE = P PK9485 —HOUF 1.5 | 100/ 210 8 5.7 45.6
SRR 2R AR AKRZE AZE 7= L —X AC5653 —oOUF 1.5 | 100| 210 8 3.8 30.4
SRR 2R 1R ARE 4EBE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 250 220 8 7.1 56.8
SRR 2R IR AKRE AZE R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 350 220 16 9.9 158.4
R 2R 1R FAaA—F— = BES PK9485 OO0 1.5 70/ 210 3.8 15.2
e 2R IR FAaA—+— = L — X AC5653 OO0 1.5 70| 210 4 3.8 15.2
SRR 2RI EMEEE = S PK9485 —OUF 1.5 | 170| 255 2 8.9 17.8
R 1ER 2R 1R EMEEE = L —X AC5653 OO0 1.5 | 170/ 255 2 8.9 17.8
SRR 2EIRIER EMEEE = S PK9485 —OUF 1.5 | 120| 255 2 6.8 13.6
Tl 2R IR EMEEE = L —2X AC5653 —OUF 1.5 | 120| 255 2 5.9 11.8
SRR 2R IR PRE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
SRR 2R AR TRE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 400| 220 1] 11.3 11.3
SRR 2 TRAR WEE Y | EERA v a PK9083 + PK9047-M T - 1.0 | 200 220 1 5.6 5.6
SRR 2R BE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 250 200 1 7.1 7.1
SRR 2R BJED = S PK9485 o0 1.5 70| 200 2 3.6 7.2




e 2RI BJED 7= L —X AC5653 —OUF 1.5 70| 200 2 3.6 7.2
SRR 2R AR BE3 = S PK9485 —oOUF 1.5 | 140/ 200 1 7.2 7.2
SRR 2ERIRIR BJE3 7= L — 2R AC5653 —HOUFr 1.5 | 140/ 200 1 7.2 7.2
e 2R AR HRE4 = T PK9485 —OUF 1.5 | 140/ 200 1 7.2 7.2
SRR 2 RAR HIRE = L —X AC5653 —oO0F 1.5 | 140 200 1 7.2 7.2
SRR 2R IR ARy TE = S PK9485 o0 1.5 | 170 200 2 7.2 14.4
e 2R IR ARy TE 7= L —X AC5653 —OUF 1.5 | 170/ 200 2 7.2 14.4
e 2R AR AV 7 7LV RE = S PK9485 —OUF 1.5 70| 200 2 3.6 7.2
SRR 2B SRR HYy 7 7LV RE = L —2X AC5653 —oOUDF 1.5| 70| 200 2 3.6 7.2
SRR 2EIRIR AV 7 7L Y RE = B PK9485 —oOUF 1.5 | 140 200 2 5.4 10.8
SRR AR5 Ay 7 7LV RE 7= L — 2R AC5653 —oOUFr 1.5 | 140/ 200 2 6 12
AEE 5F E-ICU E-ICU MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 300 220 1 8.5 8.5
EE 5F E-ICU E-ICU R | EERA v a PK9083 + PK9047-M T - 1.0 | 450 220 4| 12.7 50.8
EE 5F E-ICU E-ICU MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 250 220 4 7.1 28.4
EE 5F E-ICU E-ICU R | EERA v a PK9083 + PK9047-M TL— 1.0 | 350 220 3 9.9 29.7
AEE 5F E-ICU EIECES MY | EEfX v > a PK9083 + PK9047-M T - 1.0 | 800| 220 1| 226 22.6
EE 5F E-ICU EFES Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 550 220 4| 155 62
AEE 5F E-ICU EECES MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 300 220 1 8.5 8.5
AEE 5F E-ICU LRE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 5.6 11.2
EE 5F E-ICU e R | EERX v a PK9083 + PK9047-M TL—y 1.0 | 400| 220 11.3 22.6
EE 5F E-ICU ARy TE = P PK9485 —oOUF 1.5 90| 190 3.5 7
AEE 5F E-ICU ARy TE 7= L — X AC5653 o0 1.5 90| 190 4.6 9.2
EE 5F E-ICU AV 7 7LV RE = S PK9485 —OUF 1.5 90| 190 3.5 7
AEE 5F E-ICU Ay T7r7LYRE = L —X AC5653 —oOUF 1.5 90| 190 4.6 9.2
AEE AF B MEEK=E = i PK9485 o0 1.5 60| 180 3.3 13.2
EE AF &8 MEEHK=E = L —X AC5653 —OUF 1.5 60| 180 2.2 8.8
EE AF EIE BT = S PK9485 —oOUF 1.5 | 110| 200 6 5.4 32.4
AEE AF &I BT = L —X AC5653 OO0 1.5 | 110/ 200 6 4.8 28.8
EE AF EIE BT = FEHE PK9485 —oOUF 1.5 | 170/ 200 12 7.2 86.4
EE AF &I BT 7= L — X AC5653 o0 1.5 | 170/ 200 12 7.2 86.4
AEE AF &I EEZENES = B PK9485 o0 1.5 | 140/ 210 4 5.7 22.8
AEE AF BB EEZENES = L —X AC5653 o0 1.5 | 140| 210 4 6.3 25.2
EE AF B3 EEZENES = S PK9485 —OUF 1.5 70| 210 2 3.8 7.6
NEE AF B EELENEE = L —X AC5653 OO0 1.5 70/ 210 2 3.8 7.6
ANEE AF B HIRE = Sliiwim PK9485 o0 1.5 70| 210 1 3.8 3.8
NEE AF B HXE = L —X AC5653 OO0 1.5| 70| 210 1 5 5
EE AF B J7Lwsaa—+— = S PK9485 —oOU7 1.5 | 170/ 210 2 7.5 15
AEE AF &I1E U7Lwsaa—F— 7= L — X AC5653 o0 1.5 | 170/ 210 2 7.5 15
EE AF B3 SERE = B PK9485 —HOUFr 1.5 | 110/ 210 2 5.7 11.4
EE AF BB SHET = L —X AC5653 —oOUF 1.5 | 110| 210 2 5 10
AEE AF &I SERE = B PK9485 o0 1.5 | 170/ 210 2 7.5 15
AEE AF BB DET = L —X AC5653 —oOUF 1.5 | 170 210 2 7.5 15
NEE AF B SEE = i PK9485 OO0 1.5 90/ 210 2 3.8 7.6
AEE AF BB SERE = L —X AC5653 OV 1.5 90/ 210 2 3.8 7.6
ANEE AF B EEDIRT = PEES PK9485 —HOUF 1.5 | 110, 187 2 5.3 10.6
NEE AF B EERRT = L —X AC5653 OO0 1.5 | 110| 187 2 4.6 9.2
EE AF EIE FR=E = FEHE PK9485 —OUF 1.5 | 170/ 210 2 7.5 15
AEE AF &I RE = L — X AC5653 o0 1.5 | 170/ 210 2 7.5 15
EE AF EIE FRR=E = PEHE PK9485 —oOU7 1.5 | 110, 187 1 6.9 6.9
EE AF B3 RE=E = L — X AC5653 —OUF 1.5 | 110, 187 1 4.6 4.6
EE AF B JOEE = S PK9485 —OUF 1.5 | 110/ 210 1 7.5 7.5
AEE AF B IR = L —X AC5653 o0 1.5 | 110| 210 1 5 5
EE AF B JOHEE = S PK9485 —OUF 1.5 | 110/ 210 2 5.7 11.4
AEE AF BB IR = L —X AC5653 OO0 1.5 | 110/ 210 2 5 10
AEE AF B HR=E = S PK9485 OO0 1.5 | 110, 187 1 6.9 6.9
NEE AF B HBR=E = L —X AC5653 OO0 1.5 | 110| 187 1 4.6 4.6
EE AF B3 HREE = B PK9485 o0 1.5 | 170/ 210 2 7.5 15
EE AF B HRE=E = L —X AC5653 —oOUF 1.5 | 170| 210 2 7.5 15
AEE AF B BT = pliiwim PK9485 o0 1.5 90| 247 1 4.4 4.4
EE AF &I BT 7= L — X AC5653 —OUF 1.5 90| 247 1 5.8 5.8




NEE AF B BEF~EAEKE = BES PK9485 OO0 1.5 90/ 176 7 3.3 23.1
AEE AF BB BEE~EANEBHE = L —X AC5653 OO0 1.5 90/ 176 7 4.4 30.8
EE AF ER REEE = S PK9485 o0 1.5 | 170/ 210 7.5 15
AEE AF ERB REE= = L —X AC5653 —OUF 1.5 | 170| 210 7.5 15
AEE AF ERE J7Lwsaa—F+— = P PK9485 —oO0F 1.5 | 110| 210 2 5.7 11.4
AEE AF ERB DLy aa—F— 7= L — 2R AC5653 o0 1.5 | 110/ 210 2 5 10
EE AF AR E |FHAEI—F— = S PK9485 —OUF 1.5 | 140, 275 2 7.2 14.4
AEE AF AR E |FHAEI—F— = L —X AC5653 o0 1.5 | 140| 275 2 7.9 15.8
EE AF AR E |FHNAEI—F— = S PK9485 —OUF 1.5 | 110/ 230 4 6.2 24.8
AEE AF BRAFERE | FHHREDI—F— 7= L —X AC5653 OO0 1.5 | 110/ 230 4 5.4 21.6
LB AF AR E |HEEE = S PK9485 —oOUFr 1.5 | 110/ 210 2 5.7 11.4
NEE AF BAERE |FHERE = L —X AC5653 OO0 1.5 | 110| 210 2 5 10
EE AF BFERE (HBEE = S PK9485 —oOU7 1.5 | 110| 210 2 5.7 11.4
EE AF BFEBRE |HEE = L — X AC5653 o0 1.5 | 110/ 210 2 5 10
AEE AF Bk E |Hhr77L v RE = B PK9485 o0 1.5 | 110/ 200 2 5.4 10.8
AEE AF #HBkieE |hr7 7LV RE = L —X AC5653 o0 1.5 | 110| 200 2 4.8 9.6
EE AF #BiEBE | Arv77L Vv RE = FEHE PK9485 —OUF 1.5 | 170/ 200 4 7.2 28.8
AEE AF #BtkigeE |Hhr7 7LV RE = L —X AC5653 OO0 1.5 | 170/ 200 4 7.2 28.8
AEE AF BEFERE BREE = P PK9485 —HOUF 1.5 80/ 200 2 3.6 7.2
EE AF BiFRE |BREE = L — X AC5653 —oOUF 1.5 80| 200 2 3.6 7.2
PN AF BREFERE BREE = B PK9485 —HOUF 1.5 | 110/ 156 2 4.5 9
EE AF BFERE BREE = L — 2 AC5653 —oOUF 1.5 110/ 156 2 4 8
AEE AF BREFRE BREE = S PK9485 —HOUFr 1.5 | 170/ 200 2 7.2 14.4
AEE AF BERE BREE = L —X AC5653 —oO0f 1.5 | 170 200 2 7.2 14.4
AEE AF BERE |BRE = v PK9485 —oOUF 1.5 | 170 200 2 7.2 14.4
EE AF BFRE |SBRE 7= L —X AC5653 —OUF 1.5 | 170/ 200 2 7.2 14.4
AEE AF BERE |BRE = i PK9485 o0 1.5 | 130| 200 2 5.4 10.8
EE AF BFRE |SRE = L —X AC5653 —OUF 1.5 | 130| 200 2 4.8 9.6
EE AF BIFRE |ZWE = S PK9485 —oOUF 1.5 | 130| 200 2 5.4 10.8
AEE AF BRIFRE |ZHE = L —X AC5653 OO0 1.5 | 130/ 200 2 4.8 9.6
a3k 3F N ZEWNZE = B PK9485 o0 1.5 | 100| 255 6.8 13.6
a2\ 3F N ZEWNZE = L —X AC5653 OO0 1.5 | 100/ 255 4.5 9
e 3F 2= = pliiwim PK9485 o0 1.5 90| 176 3.3 6.6
43k 3F BJE = L —2X AC5653 —OUF 1.5 90| 176 4.4 8.8
A 3F N BT = PEH PK9485 —OUF 1.5 90| 247 4.4 13.2
e 3F N BT = L —X AC5653 o0 1.5 90| 247 5.8 17.4
e 3F NZRE]1I~4 Y |A—~FU— PK9083 T = 1.0 | 150 195 4 3 12
sk 3F 0O WMEZE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 1 5.6 5.6
3 3F 0O WMEZE R | EERA v a PK9083 + PK9047-M TL—y 1.0 | 650 220 1] 183 18.3
a3k 3F 0O WMEE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 350 220 1 9.9 9.9
43k 3F 0 ZRE1~3 Rty | A— b7 U — PK9083 TL— 1.0 | 150/ 195 3 3 9
A 3F S RE Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 1 5.6 5.6
e 3F IRE MY | EERA Y > a PK9083 + PK9047-M T - 1.0 | 400| 220 1] 11.3 11.3
s\ 3F S B = PEES PK9485 —HOUF 1.5| 60/ 180 4 3.3 13.2
23 3F S BE = L —X AC5653 —oOUF 1.5 60| 180 4 2.2 8.8
o\ 3F S Av77LvRE? = P PK9485 —OUF 1.5 110/ 210 2 5.7 11.4
sk 3F S AY77LYVRE2 7= L — X AC5653 o0 1.5 | 110/ 210 2 5 10
3 3F S Av77LvRE? = S PK9485 —oOU7 1.5 170/ 210 2 7.5 15
A3k 3F S Av77LVRE2 7= L — X AC5653 —OUF 1.5 | 170/ 210 2 7.5 15
e 3F S AY77LYRE2 = S PK9485 o0 1.5 | 110| 210 1 7.5 7.5
B 3F S Av77FLVRE? 7= L —X AC5653 —OUF 1.5 | 110/ 210 1 5 5
A 3F SYUZLwva = BT PK9485 —OUF 1.5 | 110/ 210 5.7 11.4
e 3F SYUZLwya = L —X AC5653 OO0 1.5 | 110/ 210 5 10
a3k 3F S Arv77LvRE] = S PK9485 OO0 1.5 | 110/ 210 1 7.5 7.5
23 3F S Av77LvRE]L 7= L —X AC5653 —oOUF 1.5 | 110/ 210 1 5 5
a3k 3F S Arv77LrvRE] = B PK9485 —HOUF 1.5 | 110/ 210 2 5.7 11.4
3 3F S Av77rFLvREL = L —X AC5653 —oOUF 1.5 | 110| 210 2 5 10
3 3F S ZEME = PEHE PK9485 o0 1.5 170 210 2 7.5 15
43k 3F S ZENZE = L — X AC5653 —OUF 1.5 | 170/ 210 2 7.5 15




FAPS 3F S BT = B PK9485 YO el 1.5 140| 210 1 7.5 7.5
EAPS 3F S ET = L—X AC5653 ZO0rE 1.5 140| 210 1 7.5 7.5
EAPS 3F Q PEE - NPE By | E&fA Y a PK9080 + PK9046-M L= 1.0 | 200| 220 5.6 28
EAS 3F Q PEE- N2E FEY] | E&fX vy a PK9080 + PK9046-M L= 1.0 300] 220 8.5 17
EAPS 3F Q PEE WPE By | E&fA Y a PK9080 + PK9046-M L= 1.0 | 350| 220 9.9 29.7
EAPS 3F Q ME=E By | E&fA Yy a PK9080 + PK9046-M L= 1.0 200] 220 2 5.6 11.2
EAPS 3F Q WE=E Be) | A Y > a PK9080 + PK9046-M L= 1.0 | 450] 220 20 127 25.4
EAPS 3F Q MWE=ZE BTy |[F—h7U = PK9080 L= 1.0 150] 195 1 3 3
EAPS 3F Q ®I=E Bt | LE&BX v a PK9080 + PK9046-M L= 1.0 200] 220 1 5.6 5.6
Sk 3F Q MZ=E B (F—F 7V =V PK9080 L= 1.0 | 150] 195 1 3 3
Sk 3F P 2fF=E Bt (F—h7V =V PK9083 L= 1.0 | 150] 195 1 3 3
Sk 3F P M@2=E2 Y] |[F—h7 U=V PK9083 L= 1.0 | 150] 195 1 3 3
EAS 3F P MZZE25IEBT BEY] | E&fX vy a PK9083 +PK9047-M L= 1.0 | 150] 235 1 4.2 4.2
EAPS 3F RI=E ALY | E&fA Y a PK9080 + PK9046-M L= 1.0 200] 220 1 5.6 5.6
EAPS 3F RZRE - NZE ALY | E&fA Y a PK9080 + PK9046-M L= 1.0 | 200] 220 5 5.6 28
EAPS 3F REZRE - NZE Bt | L&A v a PK9080 + PK9046-M L= 1.0 300] 220 1 8.5 8.5
EAPS 3F REZERE - NZE By | E&fA Yy a PK9080 + PK9046-M L= 1.0 | 350] 220 3 9.9 29.7
Sk 3F RZRE - NZE BEY] | E&f Ay a PK9080 + PK9046-M L= 1.0 400] 220 1| 113 11.3
Sk 3F BRI=E By | E&fA vy a PK9080 + PK9046-M L= 1.0 200] 220 1 5.6 5.6
EAPS 3F RH=E By | E&fA Y a PK9080 + PK9046-M L= 1.0 | 300| 220 3 8.5 25.5
EAPS 3F GCU B | L&BX v a PK9080 + PK9046-M L= 1.0 | 400] 200 12| 11.3 135.6
EAPS 3F GCU ALY | E&fA Y a PK9080 + PK9046-M L= 1.0 | 350] 200 1 9.9 9.9
EAPS 3F GCU Bt | L&A v a PK9080 + PK9046-M L= 1.0 | 550] 200 6| 155 93
FAPS 3F NICU Bt | L&BX v a PK9080 + PK9046-M L= 1.0 700| 200 2| 19.7 39.4
EAPS 3F NICU ALY | E&fA Yy a PK9080 + PK9046-M L= 1.0 | 600| 200 1| 169 16.9
EAPS 3F NICU Bt | L&BX v a PK9080 + PK9046-M L= 1.0 700| 200 2| 19.7 39.4
EAPS 3F NICU By | E&fX Y a PK9080 + PK9046-M L= 1.0 | 350] 200 3 9.9 29.7
Sk 3F NICU Bty | E&fA vy a PK9080 + PK9046-M L= 1.0 | 600] 200 1| 16.9 16.9
EAPS 3F NICU By | E&fA v a PK9080 + PK9046-M L= 1.0 | 450] 200 1| 12.7 12.7
EAS 3F NICU FEY] | E&fX vy PK9080 + PK9046-M L=V 1.0 | 600| 200 1| 16.9 16.9
EAPS 3F NICU By | E&fA Yy a PK9080 + PK9046-M L= 1.0 700] 200 2| 19.7 39.4
EAPS 3F NICU MLy | E&fX vy PK9080 + PK9046-M L= 1.0 | 350] 200 1 9.9 9.9
EAPS 3F NICU B | L&BX v a PK9080 + PK9046-M L= 1.0 700] 200 2| 19.7 39.4
EAPS 3F Peeses B | L&A v a PK9080 + PK9046-M L= 1.0 300] 220 4 8.5 34
EAP S 3F N2 = BfEY) | L&A v a PK9080 + PK9046-M L= 1.0 200] 220 1 5.6 5.6
EAPS 3F NEZE By | E&fA Y a PK9080 + PK9046-M L= 1.0 250] 220 1 7.1 7.1
EAPS 3F ZHEHINEG = P PK9485 D072 1.5 150] 210 7.5 15
Sk 3F ZBM=6 = L—X AC5653 YO el 1.5 150] 210 6.3 12.6
EAS 3F ERYEE = B PK9485 YO el 1.5 150] 210 1 7.5 7.5
EAPS 3F ENEER = L—X AC5653 o0 1.5 150] 210 1 7.5 7.5
EAPS 3F MFICU3 = S PK9485 YO el 1.5 100] 200 5.4 10.8
EAPS 3F MFICU3 = L—X AC5653 ZO0rE 1.5 100] 200 3.6 1.2
EAPS 3F MFICUZ = S PK9485 ZOUrE 1.5 120] 200 5.4 10.8
EAP S 3F MFICU2 = L—X AC5653 YO el 1.5 120] 200 4.8 9.6
Sk 3F MFICU1 = P PK9485 YO el 1.5 160] 200 2 7.2 14.4
EAPS 3F MFICU1 = L —X AC5653 D072 1.5 | 160| 200 2 6 12
EAPS 3F LDR3 S S PK9485 YO el 1.5 100] 200 4 5.4 21.6
EAPS 3F LDR3 = L—X AC5653 D072 1.5 100] 200 4 3.6 14.4
EAPS 3F LDR3 S S PK9485 D072 1.5 150] 200 1 7.2 7.2
EAPS 3F LDR3 = L—X AC5653 D072 1.5 150] 200 1 1.2 1.2
EAPS 3F LDRZ = BN PK9485 ZO0rE 1.5 180] 200 1.2 14.4
EAPS 3F LDR2 S L—X AC5653 YO el 1.5 180] 200 7.2 14.4
EAP S 3F LDR1 = S PK9485 YO el 1.5 100] 200 1 7.2 7.2
EAPS 3F LDR1 = L —X AC5653 D072 1.5 | 100| 200 1 4.8 4.8
Sk 3F LDR1 £ S PK9485 D072 1.5 120] 200 2 5.4 10.8
EAES 3F LDR1 = L —X AC5653 D072 1.5 120] 200 2 4.8 9.6
EAPS 2F A ER=E Bt | LE&BX v a PK9083 + PK9047-M L= 1.0 200] 220 4 5.6 22.4
EAPS 2F A ER=E Be) | E&A Y > a PK9083 +PK9047-M L= 1.0 | 450] 220 4, 127 50.8




o3k 2F A ZRE Rty |A— 7 U — PK9083 TL— 1.0 | 150/ 195 8 3 24
23 2F A WBE? Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200 220 1 5.6 5.6
sk 2F A WEBEE? MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 300 220 1 8.5 8.5
o3k 2F A WBEZE1 = T PK9485 o0 1.5 90| 176 6 3.3 19.8
s\ 2F A WEBEZE1 = L —X AC5653 —oO0F 1.5 90| 176 6 3.3 19.8
43k 2F A WBE=E1 Y] | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 700/ 220 2l 19.7 39.4
e 2F A WEBEZE1 R | EERA v a PK9083 + PK9047-M TL— 1.0 | 450 220 5/ 12.7 63.5
o3k 2F A WEBE=E1 ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 220 1 7.1 7.1
A 2F B ZRE L) | EERX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 5.6 22.4
s\ 2F PRE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 400| 220 11.3 45.2
o\ 2F B ZERE ML) |F—~ 7Y —Y PK9083 TL— 1.0 | 150| 195 3 12
A\ 2F B M#%=E1L?2 Y (-7 U —Y PK9083 TL—y 1.0 | 150 195 2 3 6
A3 2F B,C WME=E R | EERA v a PK9083 + PK9047-M T - 1.0 | 200 220 2 5.6 11.2
3 2F B,C WMEZE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 450/ 220 3] 127 38.1
sl 2F B,C WMEZE R | EERA v a PK9083 + PK9047-M TL— 1.0 | 700 220 1| 19.7 19.7
43k 2F B,C MEZ Y] | EERX v > a PK9083 + PK9047-M TL— 1.0 | 250/ 220 1 7.1 7.1
43k 2F C 2ERT Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 8 5.6 44.8
e 2F C 2RF MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 400| 220 8 11.3 90.4
sk 2F C PERF Rty |A— 7 U — PK9083 TL—y 1.0 | 150/ 195 8 3 24
o\ 2F C.D WEBE R | EERX v a PK9083 + PK9047-M TL—y 1.0 | 200 220 2 5.6 11.2
e 2F C.D WE=E MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 450/ 220 3] 127 38.1
o\ 2F C.D WEBE R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 600| 220 1] 16.9 16.9
a3k 2F C.D WE=E MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 400| 220 1] 11.3 11.3
A3k 2F D ZRE ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 6 5.6 33.6
e 2F D 2ZRFE MY | EEfX v > a PK9083 + PK9047-M T - 1.0 | 400| 220 6/ 11.3 67.8
A 2F D ZRE Rty |A— 7 U — PK9083 TL— 1.0 | 150/ 195 6 3 18
e 2F D M%R=E Y |F—~FU—Y PK9083 TL— 1.0 | 150 195 1 3 3
e 2F E 2ZRE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 3 5.6 16.8
sk 2F E 28RFT MY | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 450/ 220 3] 12.7 38.1
a3k 2F E 2ZR=E Y |A—~FU—Y PK9083 TL— 1.0 | 150 195 3 3 9
3 2F E WEZE R | EERA v a PK9083 + PK9047-M TL—y 1.0 | 200 220 1 5.6 5.6
a3k 2F E WER MY | EERA Yy > a PK9083 + PK9047-M T - 1.0 | 450/ 220 1] 12.7 12.7
s\ 2F E UEBER Y -7 U — PK9083 TL— 1.0 | 150 195 1 3 3
e 2F E ShFREER R | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 220 1 5.6 5.6
e 2F M = = v PK9485 o0 1.5 | 170 200 2 7.2 14.4
A 2F M = 7= L —X AC5653 —OUF 1.5 | 170/ 200 2 7.2 14.4
23 2F M BfE = P PK9485 —oOUF 1.5 | 140| 200 2 5.4 10.8
e 2F M BfE 7= L — X AC5653 —HOUFr 1.5 | 140/ 200 2 6 12
e 2F M BfE = BEES PK9485 —oOU7 1.5 | 140/ 200 1 7.2 7.2
sk 2F M BfE = L — X AC5653 —oOUFr 1.5 | 140/ 200 1 7.2 7.2
a3k 2F M ATENRZE = B PK9485 o0 1.5 80| 167 2 3.2 6.4
e 2F M AITSHE = L —X AC5653 —oOUF 1.5 80| 167 2 3.2 6.4
43k 2F M ATERZE = B PK9485 o0 1.5 | 110/ 167 2 4.8 9.6
3 2F M AITSHE = L —X AC5653 —oOUF 1.5 110| 167 2 4.2 8.4
A 2F M ATERZE = S PK9485 —OUF 1.5 | 160| 167 4 6.3 25.2
e 2F M AITSERZE = L —X AC5653 OV 1.5 | 160/ 167 4 5.2 20.8
sk 2F M AISBHE ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 350 220 8 9.9 79.2
23 2F ] hRUEBE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 650 220 1] 18.3 18.3
e 2F ] hRUEBER MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 450 220 71 127 88.9
o\ 2F ] hRALBE R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 900| 220 1| 25.4 25.4
sk 2F ] hRMEBE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 650 220 2| 183 36.6
3 2F ] hRALBE R | EERAX v a PK9083 + PK9047-M T - 1.0 | 450/ 220 1] 127 12.7
e 2F 2= R | EERA v a PK9080 + PK9046-M TL— 1.0 | 200 220 1 5.6 5.6
e 2F F REEFE MY | EEfX v > a PK9083 + PK9047-M T = 1.0 | 400 220 1] 11.3 11.3
A 2F F RBESE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 300 220 2 8.5 17
e 2F F REFE MY | EERA Y > a PK9083 + PK9047-M T - 1.0 | 250 220 1 7.1 7.1
a3k 2F F 28RE - WEF MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 200 220 6 5.6 33.6
23 2F F 28RE - UBE Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 400| 220 1] 11.3 11.3
a3k 2F URE - WEBE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 450/ 220 4 12.7 50.8
A3k 2F F-4 MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 200 220 4 5.6 22.4
43k 2F F #BR=E MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 650 220 1] 18.3 18.3
e 2F F #BR=E R | EERA v a PK9083 + PK9047-M T - 1.0 | 450 220 4| 127 50.8




e 2F F BA=E MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 1 5.6 5.6
sk 2F HG 2Z8RF MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 200| 220 13 5.6 72.8
a3k 2F HG ZR=FE Y | EERA v a PK9083 + PK9047-M T - 1.0 | 400| 220 10| 11.3 113
o3k 2F HG 2Z8R=T MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 450/ 220 3] 127 38.1
s\ 2F HG 28T Y (-7 U —Y PK9083 TL— 1.0 | 150 195 13 3 39
43k 2F HG WMEBEZ Rty | A— b7 U — PK9083 TL— 1.0 | 150 195 1 3 3
o3k 2F K M= ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 450/ 220 1] 12.7 12.7
A 2F | FE = S PK9485 —OUF 1.5 | 140| 200 5.4 10.8
s\ 2F | FE 7= L —X AC5653 OO0 1.5 | 140/ 200 6 12
e 2F | BREE2 = BT PK9485 o0 1.5 | 110/ 200 5.4 10.8
A\ 2F | BREE? = L —X AC5653 —oOU7 1.5 110| 200 4.8 9.6
a3k 2F | UoLvyia = P PK9485 —oOU7 1.5 | 100| 235 6.3 12.6
A3k 2F | U7Lwvia 7= L — X AC5653 o0 1.5 | 100| 235 4.2 8.4
43k 2F | ZRE Y] | EERX v > a PK9083 + PK9047-M TL— 1.0 | 200| 220 3 5.6 16.8
e 2F | ZRE MY | EEfX v > a PK9083 + PK9047-M T - 1.0 | 450 220 3| 127 38.1
e 2F BERE? = S PK9485 OO0 1.5 | 120/ 200 5.4 10.8
sk 2F BERE? 7= L —X AC5653 —oOUF 1.5 | 120| 200 4.8 9.6
o\ 2F BRE] = S PK9485 —oOUF 1.5 | 140/ 200 2 7.2 14.4
e 2F BERE] 7= L — 2R AC5653 —HOUF 1.5 | 140/ 200 2 7.2 14.4
a3k 2F L F—&NB=E = W PK9485 o0 1.5 | 100| 200 2 5.4 10.8
3 2F L T—4X0BE = L —X AC5653 —oO0f 1.5 | 100| 200 2 3.6 7.2
A3k 2F L F—XAUEE = S PK9485 —OUF 1.5 120| 200 2 5.4 10.8
e 2F L T—4XNBE = L —X AC5653 —oOUF 1.5 | 120| 200 2 4.8 9.6
A 2F L F—XUE=E = S PK9485 —OUF 1.5 | 180 200 4 7.2 28.8
e 2F L FT—4XNBE = L —X AC5653 o0 1.5 | 180 200 4 7.2 28.8
e 2F L BH%Iad— = iy PK9485 OO0 1.5 | 100/ 200 2 5.4 10.8
3k 2F HEFA T o — 7= L —X AC5653 —oOUF 1.5 | 100| 200 2 3.6 7.2
3 2F | T a— R | EERA v a PK9083 + PK9047-M TL—y 1.0 | 200 220 1 5.6 5.6
s\ 1F ZBEN=E1 = P PK9485 —oO0F 1.5 | 110| 210 5.7 22.8
43k 1F % B=E1 7= L — 2R AC5653 o0 1.5 | 110/ 210 5 20
43k 1F FHRa—F— = S PK9485 —OUF 1.5 | 160| 210 2 7.5 15
e 1F ERa—F — = L —X AC5653 o0 1.5 | 160| 210 2 6.3 12.6
e 1F BIREER = Sliiwim PK9485 o0 1.5 | 100| 210 2 5.7 11.4
23 1F BIREER 7= L —X AC5653 —oOUF 1.5 | 100| 210 2 3.8 7.6
e 1F BIREZEE = i PK9485 —HOUFr 1.5 | 120/ 210 2 5.7 11.4
o\ 1F BiREET = L —X AC5653 OO0 1.5 | 120| 210 2 5 10
o\ 1F % BEHE?2 = BES PK9485 OO0 1.5 | 140| 210 2 5.7 11.4
a3k 1F % BEE?2 7= L — 2R AC5653 o0 1.5 | 140/ 210 2 6.3 12.6
43k 1F BE HRE = B PK9485 o0 1.5 | 110/ 210 5.7 11.4
3 1F BE BEE = L —X AC5653 —oOUF 1.5 | 110| 210 5 10
e 1F B mEE = i PK9485 OV 1.5 | 140/ 210 1 7.5 7.5
sk 1F B = 7= L —X AC5653 —oOUF 1.5 | 140/ 210 1 7.5 7.5
s\ 1F B mEE = PEES PK9485 —HOUF 1.5 | 110/ 210 2 5.7 11.4
23 1F B = 7= L —X AC5653 —oOUF 1.5 | 110/ 210 2 5 10
e 1F B BREE = i PK9485 —HOUF 1.5 | 160/ 210 2 7.5 15
o\ 1F B = = L —X AC5653 —OUF 1.5 | 160| 210 2 6.3 12.6
sk 1F BE mEE = S PK9485 o0 1.5 | 110/ 210 1 7.5 7.5
o\ 1F BE EE = L —X AC5653 OO0 1.5 | 110| 210 1 5 5
e 1F BE REvT7E = S PK9485 o0 1.5 | 110| 210 4 5.7 22.8
B 1F BEH X2y T=E 7= L —X AC5653 —OUF 1.5 | 110/ 210 4 5 20
e 1F BE &y T7E = B PK9485 o0 1.5 | 160| 210 2 7.5 15
A 1F BE X2y T=E 7= L —X AC5653 —OUF 1.5 | 160| 210 2 6.3 12.6
sk 1F wmE BER—IL ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 500 220 21 14.1 28.2
a3k 1F wE iEfER—IL MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 650 220 1| 18.3 18.3
a3k 1F BE PRE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 200 220 1 5.6 5.6
3 1F BE PRE Y | EERA v a PK9083 + PK9047-M T - 1.0 | 400| 220 1] 113 11.3
3 1F EID P PA R | EERA v a PK9083 + PK9047-M TL— 1.0 | 300 220 2 8.5 17
e 1F NEE Hr77 = S PK9485 o0 1.5 90| 210 2 3.8 7.6




o3k 1F NEE Hr 77 7= L —X AC5653 —OUF 1.5 90| 210 2 3.8 7.6
e 1F NEE Hr77 = S PK9485 OO0 1.5 | 160/ 210 2 7.5 15
23 1F NEE Hr 77 7= L —X AC5653 —oOUF 1.5 | 160| 210 2 6.3 12.6
sk 1F NEE Hr77 = S PK9485 —HOUFr 1.5 | 110/ 210 2 5.7 11.4
a3k 1F NEE Hr77 = L —X AC5653 —OUF 1.5 | 110| 210 2 5 10
s\ 1F NRE FE = S PK9485 —oO0F 1.5 | 110| 200 5.4 21.6
43k 1F NEE FE = L — 2R AC5653 o0 1.5 | 110/ 200 4.8 19.2
o3k 1F NRE BRE ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 220 2 7.1 14.2
A 1F NRE FINEE L) | EERX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 1 9.9 9.9
s\ 1F NEE pILEE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 4 5.6 22.4
e 1F NEE EEE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200| 220 1 5.6 5.6
A\ 1F NRE REET R | EERA v a PK9083 + PK9047-M T - 1.0 | 450/ 220 5/ 12.7 63.5
a3k B1F J7Lwaa—F+— = P PK9485 —oOU7 1.5 | 190 210 7.5 15
A3k B1F DLy aa—F— 7= L — X AC5653 o0 1.5 | 190/ 210 7.5 15
43k B1F R vT 4 THEEEL? = B PK9485 o0 1.5 70| 200 3.6 14.4
e B1F R vT 4 THEEL? = L —X AC5653 o0 1.5 70| 200 4.8 19.2
43k B1F R TF 4 TEEL? Y | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 300 220 8.5 17
sk B1F ARy TE = S PK9485 —oOUF 1.5 70| 200 3.6 14.4
s\ B1F ARy TE 7= L —X AC5653 —HOUF 1.5 70/ 200 4.8 19.2
e B1F BEE = B PK9485 —HOUF 1.5 70/ 200 1 3.6 3.6
e B1F MEE = L — 2 AC5653 —oOUF 1.5 70| 200 1 4.8 4.8
3 B1F WM& BRE1I~4 Y | EERA v a PK9083 + PK9047-M TL— 1.0 | 200 220 4 5.6 22.4
e B1F BE ArEmLEE MY | EEfX v > a PK9083 + PK9047-M T - 1.0 | 200 220 2 5.6 11.2
A B1F wE amioEE Y] | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 300 220 1 8.5 8.5
e B1F BE BroEE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 1 9.9 9.9
e B1F B PRE MY | EERA Yy > a PK9083 + PK9047-M TL— 1.0 | 200 220 2 5.6 11.2
sk B1F BE PRE MY | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 400| 220 21 11.3 22.6
o\ B1F BEHR e ML) |F—~ 7Y —Y PK9083 TL— 1.0 | 100| 170

a3k B1F BEHR A EE Rty | A— 7 U — PK9083 TL— 1.0 | 200/ 170 4

43k B1F BRE Y] | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 1 9.9 9.9
43k B1F BRE (BH) ML) | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 300 220 1 8.5 8.5
A B1F BRE () Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 300| 220 1 8.5 8.5
23 B1F RIEEFEKRE?2 Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 350 220 1 9.9 9.9
M2 1F RIEFE = S PK9485 —oOU7 1.5 | 100| 210 5.7 11.4
Ma 1F RIEFE = L — X AC5653 o0 1.5 | 100| 210 3.8 7.6
Foe=t 1F SRE = Ay 2 PK9083 + PK9047-M T = 1.0 | 200 220 8 5.6 44.8
Ma 1F e = FERA Y2 PK9083 + PK9047-M TL— 1.0 | 400 220 8 11.3 90.4
Ma 1F WE = = pliiwim PK9485 —oOUF 1.5 | 160| 156 2 6 12
Foe=t 1F WEE 7= L —X AC5653 —OUF 1.5 | 160| 156 2 4.9 9.8
=) 1F WE R = i PK9485 OV 1.5 | 110/ 156 2 4.5 9
Foe=t 1F MEZE 7= L —X AC5653 —oOUF 1.5 110/ 156 2 4 8
Ma 1F WE R = PEES PK9485 —HOUF 1.5 | 180 156 2 6 12
Foe=t 1F WE = 7= L —X AC5653 —oOUF 1.5 | 180| 156 2 5.9 11.8
Ma 1F MEBEE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 500 220 5/ 14.1 70.5
M2 1F WE = R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 350 220 1 9.9 9.9
Ma 1F MEBEZE MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 900| 220 1| 25.4 25.4
M2 1F WE = R | EERAX v a PK9083 + PK9047-M TL—y 1.0 | 600| 220 2| 16.9 33.8
Ma 1F MEE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 800| 220 1| 226 22.6
) 1F B E R | EERA v a PK9083 + PK9047-M TL— 1.0 | 500 220 2| 141 28.2
Foe=t 1F MEE ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250/ 220 1 7.1 7.1
=) 1F MEE MY | EEfX v > a PK9083 + PK9047-M T = 1.0 | 600 220 1 16.9 16.9
Foe=t 1F IEE MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 400| 220 21 11.3 22.6
A 1F MEBEZE MY | EERA Y > a PK9083 + PK9047-M T - 1.0 | 250 220 1 7.1 7.1
Ma 1F ESWLZE MY | EERA Y > a PK9083 + PK9047-M T = 1.0 | 450 250 11 127 12.7
Foe=t 1F AN —=F MY | EERA Yy > a PK9083 + PK9047-M T = 1.0 | 250/ 220 1 7.1 7.1
A 1F s PA - Y | EERA v a PK9083 + PK9047-M T - 1.0 | 300 220 2 8.5 17
M2 1F Ay 7 7Ly RAE2 = S PK9485 o0 1.5 | 220 210 9.5 19
Ma 1F AV 7 7Ly RE? 7= L — X AC5653 —OUF 1.5 | 220/ 210 8.8 17.6




HMa 1F Ay 77 LY RE] = P PK9485 —OUF 1.5 | 170 200 7.2 28.8
#Ha 1F hy 7 7Ly RE]L 7= L —2 AC5653 —o0 1.5 | 170 200 7.2 28.8
Ma 1F BIEE = P PK9485 —ouE 1.5 | 190| 200 7.2 14.4
Bog= 1F BIEE 7= L —2X AC5653 —OUF 1.5 | 190| 200 7.2 14.4
BEEs 1~3F = 7= S PK9459 ZOUF 1.5 110/ 191 96 5.3 508.8
BEEES 1~3F B= 7= L — 2R PK9633 o0 1.5 | 110| 191 96 4.7 451.2
ZLHhDOHRREBER 1F EEE = P PK9095 —OUF 1.5 90| 120 2 2.9 5.8
ZLHhOHRREBE 1F EISE 7= L —2X PK9611 ZOUF 1.5 90| 120 2 2.4 4.8
L DOHRRBE 1F EBE 7= RL—7 PK9121 —ou 1.5 80| 120 2 2.4 4.8
ZLHhDOHRRBE 1F EHE = L —2X PK9611 —oOUF 1.5 80| 120 2 2.4 4.8
ZLHhDOHRRBE 1F EHE 7= FL—7 PK9121 —ouE 1.5 | 110| 160 4 4 16
ZLHhDOHRREBE 1F EHE = L —2X PK9611 —oOU7 1.5 | 110| 160 4 4 16
ZLHhDOHRRBE 1F ERE 7= FL—7 PK9121 ZOUVF 15| 60| 120 2 1.6 3.2
ZLHhOHRBE 1F EBE = L —2X PK9611 —oOU7 1.5 60| 120 2 1.6 3.2
ZLHhDOHREBE 1F B2E (3) = FL—7 PK9121 ZOUF 1.5 | 100| 160 2 3 6
ZLArOHRRBEE 1F 2E (3) 7= L —2 PK9611 o0 1.5 | 100| 160 2 3 6
ZLHhDOHRREBER 1F id=Ry N 7= FL—7 PK9121 —OUF 1.5 | 110| 120 3.2 6.4
LA DHRRBE 1F =P NG 7= L —2 PK9611 —o0 1.5 | 110| 120 3.2 6.4
LA DOHRRBE 1F BT = RL—7 PK9121 —ou 1.5 | 110| 160 4 16
ZLHhOHRRBE 1F BT = L — X PK9611 —oOUF 1.5 | 110| 160 4 16
ZLHOHKEBE 1F FLIBRE (0%!R) = FEHE PK9095 —oOUF 1.5 60| 160 2 3.5 7
ZLHhDOHRRBE 1F HEE (05'R) 7= L — X PK9611 —ouE 15| 60| 160 2 2 4
L DHRRBE 1F FIBRE (0%!R) = pliiwim PK9095 —oO0f 1.5 | 110| 160 4 5.1 20.4
ZLHhOHREER 1F FHRE (0KR) = L —X PK9611 OO0 1.5 | 110| 160 4 4 16
ZLHhOHREER 1F R®BEE 2mR) = WA PK9095 OO0 1.5 | 230| 222 2/ 107 21.4
ZLHDOHKREBE 1F R®BE 2®R) = L —X PK9611 o0 1.5 | 230| 222 2 9.2 18.4
L DOHRRBE 1F BB = RL—7 PK9121 —ou 1.5 | 100 80 1 2.4 2.4
ZLHhDOHRREBEER 1F RS 7= L —2X PK9611 —oOUF 1.5 | 100 80 1 2.4 2.4
L DHRRBE 1F IFCE = S PK9095 —oOUF 1.5 | 110| 160 5.1 20.4
L DOHRRBE 1F IFSCE 7= L —2X PK9611 —ouE 1.5 | 110| 160 4 16
ZLhroHREER 1F REZE GmR) = WA PK9095 —oOUF 1.5 | 230| 222 10.7 21.4
ZLHDOHKREBE 1F ®BE G®R) = L —X PK9611 o0 1.5 | 230| 222 9.2 18.4
L DHRRBE 1F ®RBE (UmR) = v PK9095 o0 1.5 | 230| 222 10.7 21.4
ZLHhDOHRREBER 1F RBZE (4R 7= L —X PK9611 —OUF 1.5 | 230| 222 9.2 18.4
ZLHhDOHRREBER 1F RBZE GR = S PK9095 —oOUF 1.5 | 230| 222 10.7 21.4
LA DOHRRBE 1F RBZE GmR 7= L —2 PK9611 —o0 1.5 | 230| 222 9.2 18.4
ZLHhDOHRRBE 1F =1 = FL—7 PK9099 ZOUF 1.5 | 110| 221 6.9 27.6
ZLHhDOHRREBE 1F e =1 = L —2X PK9611 —oOU7 1.5 | 110| 221 5.3 21.2
ZLHhOHREBE 1F TEEL = 2 = FL—7 PK9099 ZOUF 1.5 | 110| 160 5.6 22.4
LA DOHRRBRE 1F W= 2 7= L —2X PK9611 —OUF 1.5 | 110| 160 4 16
ZLHhDOHRREBER 1F =3 = FL—7 PK9099 —OUF 1.5| 110| 160 5.6 11.2
L DHRRBE 1F TEELE3 = L —2 PK9611 —ouF 1.5 | 110| 160 4 8
F s T ¥ i ML) | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 200 220 10 5.6 56
1 T T Y | EEfX v > a PK9083 + PK9047-M TL—y 1.0 | 250| 220 10 7.1 71
F s T ¥ i MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 350 220 10 9.9 99
1 T T RAtt] | LB A v PK9083 + PK9047-M TL—y 1.0 | 500 220 3] 14.1 423
T T ¥ MY | EEfX v > a PK9083 + PK9047-M TL— 1.0 | 800| 220 2| 226 45.2
F 1 T T RAtY) | EER A v a PK9080 + PK9046-M TL—y 1.0 | 200| 220 5 5.6 28
T T ¥ i MY | EEfX v > a PK9080 + PK9046-M TL— 1.0 | 250 220 5 7.1 35.5




Bigl Bidl] Bidl] By | E&fA vy a PK9080 + PK9046-M L= 1.0 350] 220 10 9.9 99
Bidl Bidl Sidl ALY | E&fA Y a PK9080 + PK9046-M L= 1.0 | 400] 200 11 11.3 124.3
T Bigl] Bidl] By | E&fA vy PK9080 + PK9046-M L= 1.0 | 550] 200 14| 155 217
Bidl Bidl Bidl By | E&fA Y a PK9080 + PK9046-M L= 1.0 | 600| 200 5| 16.9 84.5
midl midl Sidl FEY] | E&fX vy a PK9080 + PK9046-M L= 1.0 700| 200 16| 19.7 315.2
Bigl] Bidl] Bidl] = P PK9485 D072 1.5 100] 210 27 7.5 202.5
midl midl T = L—X AC5653 D072 1.5 100] 210 31 5 155
Bidl] Bidl Bidl &= P PK9485 D072 15| 70| 210 10 3.8 38
Bidl Bidl Sidl £ L—X AC5653 D072 1.5 70 210 12 5 60
Bidl] Bidl] Bidl S FL—7 AC5165 D072 15| 70| 210 2 4.7 9.4
Bidl Bidl T = FL—7 AC5165 D072 1.5 100] 210 4 4.7 18.8

ast 3,826 23,173.9




